'

rouge=Lina rouge=Sachat rouge=Timon

'

NON( NON(
rouge=>Sachat |rouge=Sachat rouge=Sachat \rouge=Sachat
) )
vert=pierre vert=corde vert=carte
NON( NON(
rouge=Lina frouge=Lina ouge=Lina \ rouge=Lina
) )
jaune=chaussons jaune=grelot jaune=bouclier
NON( NON(
rouge=Timon [rouge=Timon rouge=Timon \rouge=Timon
) )
bleu=marteau bleu=poulet bleu=grimoire

/

NON(
(vert=pierre) | (vert=pierre) NON( NON(
ou ou vert=carte \ vert=carte vert=corde \ vert=corde
(rouge=Timon) |(rouge=Timon) ) )
)
Y
vert=bobo vert=bobo vert=bobo

\
—

NON(
NON( NON( (jaune=chaussons) \(jaune=chaussons)
jaune=grelot [jaune=grelot | jaune=bouclier \jaune=bouclier ou ou
) ) (rouge=Sachat) (rouge=Sachat)
¢ )

jaune=bobo jaune=bobo jaune=bobo

\\
—

A
I

NON(
(bleu=marteau) | (bleu=marteau) NON( NON(
ou ou bleu=poulet \ bleu=poulet |bleu=grimoire \bleu=grimoire
(rouge=Lina) | (rouge=Lina) ) )
| '
bleu=bobo bleu=bobo bleu=bobo

A

bobo < 0|1 < b@i < bobo

R

FIN FIN FIN
victoire bof défaite

NON(
rouge=Timon \ rouge=Timon

)
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